FgArea: [0 ]
NC11 G3-3
2025-06-12 (Day 31)




2000
1750 ~
1500 ~
1250 ~
1000 ~
750 -
500 -
250 -

—-o— VI
——

2000
1500 -
1000 -

25

15

10

500 ~ ﬂ

2000
1750 ~
1500 ~
1250 ~
1000 ~
750 -
500 -
250 -

1600
1400
1200
1000
800 -
600 -
400 -
200 -

—o— 3 VW

30

25

15

10

1750 A
1500 -
1250 -
1000 -
750 A
500 -
250 -

- 2 VN

25

15

10

1750 ~
1500 ~
1250 ~
1000 ~
750 -
500 -
250 -

0.4+

0.8
0.6 -

0.2+
0.0

0.1 f=m—mm—— =

0.2 A
0.0

| —— S——

0.8~
0.5
0.4 -

0.7 A
0.6

0.0

30

o
o
[ )
o
o
° o

a ()

(2]

> (X4
L OQ
>
< Y J

. -
T T T T T T T T
o o o o o o o o
o Te) o [fe) o T} o T}
o r~ o N o r~ [{p) N
N — — — —

o
o
o
o
o
°s

=}

a ®

)]

> [

= -

™ [ )

. -
T T T T T T T T T
o o o o o o o o o
o o [I9) o [Te] o [I9) o [Te]
N o r~ Tp) N o r~ Tp) N
N ~ — — — —_

o

o
o
@
o
° s

=}

a [ )

g e

= Q

N o

o f

T T T T T T T T
o o o o o o o o
o [Ie) o Te} o Lo o [Ie)
o ~ Ip) N o ™~ Te) N
N — — — —

o

®
[ )
o
o
¢ o
{ ]

a [

(2]

> ® [

= -

— "]

. -

T T T T T T T T
o o o o o o o o
o Te) o [fe) o T} o T}
o r~ o N o r~ [{p) N
~ — — — —

1000 1500 2000 2500 3000 3500 4000

500

1000 1500 2000 2500 3000 3500 4000

500

1000 1500 2000 2500 3000 3500 4000

500

1000 1500 2000 2500 3000 3500 4000

500

DU

DU

DU

DU

0.8~

30

T
25

T
20

15

T
10

30

25

20

15

10

25

20

15

10

0.75 A
0.70
0. 65
0. 60
0.55
0. 45

30

15

0.8 -
0.7
0.6

0.5 -
0.4
0.3 -

—@— 4 setVI

—@— 3 setVl

180 A
160 -
140 -
120 -
100 -
80 -
40 -

—@— 2 setVl

160

140
120 -
100
80 -

140 -
120 -
100 -
80 -
60 -
40

30

25

20

15

10

30

25

20

15

10

30

25

20

15

10

30

25

20

15

10

d
= NA)

4 (fgArea

d
= NA)

3 (fgArea

d
= NA)

2 (fgArea

d
= NA)

1 (fgArea

=0 ECI*10%

—o— ECO

4000 -

V

—0— ECI*10%

—o— ECO

30

20

15

10

30

25

20

15

T
10

4000
3500
3000
2500
2000
1500 -
1000 -

500 -

=0 ECI*10%

—— ECO

T
30

T
25

T
20

15

10

3500
3000
2500
2000

%

—o— ECO
=0 ECI*10

6000
5000
4000
3000
2000

30

T
25

20

15

10




N
o
=
*
T
o

¢

N o [ce] © < N o [ce]

o
~

©
©

©

©
©

©

<
©

N
©

o [ce]

©

1)



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS EE

06:15 263 150.0 3.24 (Z x| ThEAQO6:15 KENFEF (RAfREIE)
07:05 263 150.0 3.24 (£ x| FHHA@O7:05 KENFEF (RA{EENER)
07:55 263 150.0 3.24 (£ x| FhHA@O7:55 KENFEF (RAfEEIER)
09:10 263 150.0 3.24 (Z x| ThHA@D9:10 kENFEF (RAfREIE)
10:05 263 150.0 3.24 (Z x| THHA@10:05 KENFEF (RA{ERENEE)
10:55 263 150.0 3.2 (Z x| TFiHA@10:55 KEIEF (CRAEESE)
11:45 263 150. 0 3.24 |Z=| ThHR@11:45 KEFERF (GRAEHSE)
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15:45 263 150.0 3.24 (£ x| ThHA@15:45 KENFEF CGRA{EEEE)
17:00 263 150.0 3.24 |Z=| ThHR@17:00 kEIFERF (GRAERSE)
23t 3419.0 (13%) 1950. 0 3ZHIKEC: 2500.0, PH: 6.5

FERGERIPH (10.29) 5igEPH (6.5) REK K, AT
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G3-3
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G3-3_0, Day=30 (2025-06-11)
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1.0
67
0.8+
66
65 - 0.6 -
64 0.4 -
63
0.2+
62 - o M_E Warning: col ['M_E'] missing
T T 0- 0 T T T T
600 1000 0.0 0.2 0.4 0.6 0.8 1.
m=550,m FV0=0 m=615, FV0=0
66
66. 5 - —&— ME - ME
66.0 - 65 -
65.5 1
65.0 - 64 1
64. 5
63
64. 0
T T T T T T
550 555 560 615 620 625
m=785,m FV0=0 m=825,m FV0=0
66
—o— ME - ME
65
65
64 -
63 _ 64 T
62 63
785 790 795 825 830 835
m=965,m FV0=0 m=1020m FVO0=0
67 -
65. 5 @ M_E —o— ME
65. 0 66
64.5
65
64. 0
63.5 - 64
63. 0 1
T T T 63 L T T T
965 970 975 1020 1025 1030

1.0

m=405, FV0=0

0.8 -

0.6

0.4+

0.2 -

0.0

Warning: col ['M_E'] missing

T T
0.2 0.4 0.6

m=675, FV0=0

0.8

65

64

63

62

——

M_E

675

GéO
m=865,n FV0=0

T
685

66 -

65

64 -

63

——

M_E

865

850
m=1025m FV0=0

875

67.0

66. 8 -

66. 6

66. 4

66. 2

66. 0

——

M_E

1025

1030

1035

.0

m=465, FV0=0

67.0 A

66. 5 -

66. 0

—&— M_E

T
470

475
m=730,n FV0=0

65

64 -

63

62

—&— ME

T
735

740
m=910,n FV0=0

65. 5

65. 0

64.5

64.0

63. 5

63. 0

—&— M_E

910

915

920

54 -

53 A

52 -

51

50 A

49 ~

M_w

600

m

800

1000




1.

0

0.

0.

0.

0.

52.

52.

51.

51.

50.

50.

49.

m=365, FV0=0 m=405, FV0=0
0 1.0
8 0.8 1
6 0.6
41 0.4
2 4 0.2 A
Warning: col 'MW ] missing Warning: col "M W 1] missing
0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8
m=615, FVO0=0 m=675, FV0=0
53 A
—o— MW —— MW
52 4
52 1
51 4
51
50 4
50
49
T T T T T T
615 620 625 675 680 685
m=825,m FV0=0 m=865,m FV0=0
57 —&— MW | 52.5- —— MW
0_
52.0 A
5_
51.5 A
0_
5 51.0 1
0 50. 5
57 50. 0 1
825 830 835 865 870 875
m=1020m FV0=0 m=1025m FV0=0
sa ] —&— MW 54. 25 1 —o— MW
54. 00 A
53
53. 75
52 53. 50 -
53. 25 A
51 1
53. 00 A
50 T T T T T T
1020 1025 1030 1025 1030 1035

.0

m=465, FV0=0

54. 0 -

53.5

53. 0 -

52.5 A

52.0 -

51.5 4

—— MW

4%0
m=730,n FV0=0

465

T
475

52 -

51 1

50 A

49 -

—o— MW

755
m=910,n FV0=0

730

T
740

52.5 A

52.0 A

51.5 A

51.0 A

50. 5 -

50. 0 -

—o— MW

910 915

920

m=530, FV0=0

53.

52.

52.

51.5 4

51.0 -

50.

50.

—— MW

550

5%5
m=785,n FV0=0

T
560

52 A

51 4

50

49 -

—— MW

785

790
m=965,n FV0=0

T
795

52.5 4

52.0 -

51.5 -

51.0 A

50. 5 -

50. 0 -

—o— MW

965

970

975
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G3-3

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

06:55 207 150.0 3.24 =l {Rig@06:55 B (RFAERSE)
07:55 207 150.0 3. 24 = {RRiB@07:55 B (RFAEEE)
09:30 207 150.0 3.24 5 {Ri%@09:30 B3 (KRAMERSE)
11:00 207 150. 0 3.24 El BRi&e11:00 Bz GGRAEREE)
12:15 207 150.0 3. 24 =l {Rige12:15 B3 (RAERSE)
13:25 207 150.0 3. 24 S| {Rige13:25 B (REAERSE)
14:15 207 150. 0 3.24 E| {Rige14:15 Bzh (GRE{ERSE)
15:15 207 150.0 3.24 E BRige15:15 Ba1 CGRAERSE)
16:15 207 150.0 3. 24 S| {Rige16:15 B (RAERSE)
17:25 207 150. 0 3.24 E BRige17:25 Bz CGRAERESE)
21t 2070.0 (100%) 1500. 0 32 U3KEC: 2500.0, PH: 6.5

ESGEEBERE L ERN (0.5 vs 0.56), AIAEH S S EEE BN ERE

2RI\ EPRERE150. 0 ml.

REREERIPH (10.34) 5iZEPH (6.5) REK K, HHRE
REXRGEBIPH (10.34) 5FIPH (6.5) REKK, BHRE
#[E;KECZ (2668.0 vs 3557.0) 1R
LERGERPH (10.4) 5i&EE (6.5) REKK, BFRE.

LERGERRPH (10.4) 5#EREN (6.5) RERK, BRE,




G3-3_0, Day=29 (2025-06-10)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

L e e o e B e e e e e e B 5550 |
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET
203
1900 - 2000 ~
100 - i
274 -
50 - T L1000
10 &
51 Warning: lcol [FVI',| "FVO’'] missing
0_
(
150 +
100 - |
50 -
1.0
0.8
0.6
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=2500. 0, setECB=2500. 0 —¢  ECB*10%
® ECC
2600 - o ® ° ® .
® i ( ]
i °
2400 e® o
°
°
103 optPHO=6.5, setPHB=6.5 o6 (& o o ®© o000 00 o0° —%—  PHBX10%
® PHC
8_
6_
3000
200 2
- 2000 &
E
100 - —
- 1000 i
>
[&]
O T 11 213124157161 7 ]899 T7w0] i1 ]2 @3 [14a]nBli6]7]i8]m]20T[21]2]2]°
I I I I I I I I I O I I T
200 7 £
ByEt @D29 19:07: ET=2091 Fg=2220.0 Ro=nan 8 =
1 - 2000 &
| E
100 - —
- 1000 i
>
[&]
_24#_’/
O T 11 213121571617 18T To9T1w0] 11123 11a]w|i6]17]i8]m 20T 21]2]2]°
I I I I I I I I I O I I T e
200 I £
ByWoF¥ @D31 01:37: ET=1274 Fg=1500.0 Ro=218.0 =2
h L 2000 2
: .,/i/ E
100 - I _
l - 1000 Lo
1 >
1 \ o
1
| e—— ——— — I —
VO T 71 21314151161 718 19 0] izl [ma]izlmwli7]@B8]i9]20]2112]23]°
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B B
0.6
0.4
0.2 -
0.0
—_— 4
(] | _obs
—@— PPFD obs
RH
RH_obs
RHo _obs
e v P




—o— ME
T T T T
400 600 800 1000
m=580,m FV0=0
—o— ME
62 -
61 -
T T T
580 585 590
m=800,m FV0=0
65 -
64 -
63 -
62 -
800 805 810
m=930,m FV0=0
65.5
65.0
64.5 1
64.0 1
63.5 1
63.0 -5

930

935 940

m=395, FV0=0

65

64

63

62

61

60 -

59 A

T T
400 405

m=645,m FV0=0

65

64

63

62

61

T T
650 655

m=835,m FV0=0

65

64

63

835

840 845

m=960,m FV0=0

66. 0 -

65. 5 1

65. 0 -

64. 5 -

64. 0 -

i
i

960

965 970

65.

65.

64.

64.

63.

63.

66.

65.

65.

64.

64.

63.

m=435, FV0=0

66 -

65

64

63

62

435

T T
440 445

m=705,m FV0=0

65

64

63

62

61 1

T T
710 715

m=865,m FV0=0

870 875

m=1000m FVO=0

1005 1010

65.

65.

64.

64.

63.

66.

66.

65.

65.

64.

m=510, FV0=0

66

65

64 -

63

62

61 L5

5%5 5&0
m=755,n FV0=0

65

64

63

i

T T
755 760 765

m=899,m FV0=0

—o— M_E

895 900 905

m=1030m FVO=0

—o— M_E

1030 1035 1040




T T T
600 800 1000

400
m=580,m FV0=0
—— MW
48
46
44
42
T T T
580 585 590
m=800,m FV0=0
—— MW
49
48
47
46
800 805 810
m=930,m FV0=0
50. 5 —o— MW
50.0 -
49.5
49.0
48.5
48.0

930 935 940

49.

49.

48.

48.

47.

47.

46.

50.

50.

49.

49.

48.

m=395, FV0=0

44 -

42

40 -

38

36 -

34 -

—— MW

460 465
m=645,n FV0=0

49 ~

48 -

47 -

46 -

45 ~

44 -

43 A

—— MW

660 665
m=835,n FV0=0

—— MW

8&0 8&5
m=960,n FV0=0

835

-o— MW

?
7

960 965 970

48 -

46

44 -

42 -

40 -

49 -

48 -

47 -

46

45 -

44 -

50 -

49 ~

48 -

47 -

50.5 -

50. 0

49.5 -

49.0

48.5 -

m=435, FV0=0

—o— MW

440 445
m=705,m FV0=0

435

—— MW

7iO 7%5
m=865,n FV0=0

—— MW

850 8%5
m=1000m FV0=0

-0— MW

1000 1005 1010

50.

50.

49.

49.

48.

48.

51.

51.

50.

50.

49.

49.

m=510, FV0=0
—— MW
48 -
46 -
44 -
42 -
550 555 5&0
m=755,m FV0=0
—— MW
49 -
48 -
47 -
46 -
45 -
7%5 760 765
m=895,m FV0=0
5 - —— MW
0_
5_
0_
5_
0_
855 960 965
m=1030m FVO0=0
57 —— MW
0_
5_
0_
5_
0_| T T
1030 1035 1040
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G3-3

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

08:35 203 150. 0 3.24 (£=| 1Ri%e08:35 Bz (KRAEHSE)
10:30 203 150.0 3.24 |Z=| {Ri%e10:30 Bz (KREAEZBE)
12:25 203 150. 0 3.24 |Z=| {Ri%e12:25 Bz (REEZEBE)
14:05 203 150. 0 3.24 FH| {Ri%e14:05 BHzh (RAERESE)
2it| 812.0 (4k) 600.0 EWGHIKEC: 2500.0, PH: 6.5

FORGEBBT SR AR B2 (203 vs 259.0))

PRIASLPRIERE118.0 ml.

REXFEBPH (10.35) 5i&%EPH (6.5) RERK, HFHRE
REXEEBPH (10.35) 5FMPH (6.5) REKKA, BFHRE
PEERECE (2652. 0 vs 3815.0) RS
EREBPH (10.4) 5i8EME (6.5 RERK, BHRE.

ERGEBIPH (10.4) S5EREW (6.5 RERK, HRE.




G3-3_0, Day=28 (2025-06-09)

0 e g g . E e B
1990 vogRY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 2000
100 - - 1500
086 1050 109662
L 1000
50 700
L 500
95 Warning: lcol [FVI',| "FVO’'] missing 51
R e L e e e ——— — -0
— ( —_ ME P
I = maxM =+ 60
£ 100 1
E_ W]
— =
< 50 L 50
>
&
1.0 40
U
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=2500. 0, setECB=2500.0 @ —>— EcBx10%
® ECC
2600 - ° o o ® o o
Nz AV AV AV AV AV AV e g
2400 -
° ® ® o ® o o0 o © ,
104 optPHO=6.5. setPHB=6.5 —¢  PHB*10%
® PHC
8_
6_ N~ N N N N N N N £
! 4000
S 400 ByInit @D31 01:37: ET=2753 Fg=2640.0 Ro=241.0
S | L 3000
N |
< L 2000
%200— :
A I
_ I L 1000
] 1
1 II
OT=0 1 11 21 3] 4] 5761 7] 819 0] 11 2] @[ 1415 ]16]17]18]19]2 |22 |25 Fd000
SO - I I N A 7 s I I I
c 1
- ByEt @D28 19:08: ET=1104 Fg=1080.0 Ro=nan ! - 3000
N
o 1
< L 2000
%200— i
- s—e—8—s—2—8 |
1
0.]5:::.::::. —a—&—8 AIr—_N\\\\\\“\4——f 0
0 1 2 | 3 | 4] 5] 6] 7 | 8] 9 [10] 11 12 ] 13 ] 14] 15 [ 16 | 17 ] 18 ] 19 ] 20 | 21 | 22 | 23 I 4000
B 400 %n| 25|25 H FH BH | BB |g=|2=|2=|Z2=2=2=|0W| B | 22|28 |25 5= |22 B 5
= 1
2 ByWoFy @D31 01:37: ET=700 Fg=600.0 Ro=100.0 3000
N
o 1
< L 2000
%200— :
=~ : L 1000
g ! e & & & o
1 0.]====.::iﬂ. —a—&—8 0
0 | 1 6 | 7 ] 8] 9 [ 10 111213 ] 14 ] 1516 ] 17 ] 18] 19212121 23
0 lBEIBZ 2= B | B | B | B 3232272212221 0m| B 5215232222225 % | &
0.6
0.4
0.2
0.0
1500 4 —_— 4
[ ] | _obs
—@— PPFD obs
v e v #
o N

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



65 -

60 -

55 A

50

45 -

400 660 860
m=700,n FV0=0

T
1000

62 |

60 -

58 -

56

54 -

52 -

50

it

M_E

d

700 765 7%0
m=925,n FV0=0

——
63

62

61

60 -

M_E

925 9é0 9é5
m=525,n FV0=0

40 - ——
38
36
34 A
32 4
30

28 ~

M_W

525 530 535

m=430, FV0=0

60

55 -

50 A

45

——

M_E

T T
435 440

m=775,m FV0=0

62

60

58 -

56

54

52

——

M_E

T T
780 785

m=980,m FV0=0

64

63

62

61

60

——

M_E

980

985 990

m=650,m FV0=0

40 -

38 -

36

34 -

32 -

30 A

28 A

——

M_W

650

655 660

62.

60.

57.

55.

52.

50.

47.

m=523, FV0=0

——

M_E

525 550 555
m=830,n FV0=0

62 —o—

61 -

60

59 -

58 A

57_| T T

M_E

454 —@— MW

40 -

35 -

30 -

25 A

400 660 860
m=700,n FV0=0

1000

40 -

38 -

36

34 -

32 -

30 -

i

M_W

]

700 705 710

m=650, FV0=0

60 -

58 ~

56

54

52 -

——

M_E

T T
655 660

m=875,m FV0=0

62

60 -

58 ~

56 -

——

M_E

T T
880 885

m=430,m FV0=0

38 A

36

34

32 -

30 -

28 A

26 -

——

M_W

430

435 440

m=775,m FV0=0

40 -

38 -

36

34 -

32 -

30 -

——

M_W

775

780 785




m=830, FV0=0

421 —— MW
40 -
38 1
36
34 4
T T T
830 835 840

m=875, FV0=0

42 -

40 -

38 A

36

34 A

——

M_W

875

T
880

T
885

m=925, FV0=0
44 - —— MW
42 4
40
38 -
925 930 935

m=980, FV0=0
46 —— MW
44
42 4
40
980 985 990
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G3-3

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

06:15 136 110.0 2.376 E|  {Rig&e06:15 Bah (RFE{EREE)
07:15 136 110.0 2.376 = {Rige07:15 B (RAERSE)
08:30 136 110.0 2.376 F  1BRi%e08:30 Bzl (RAERE)
10:15 136 110.0 2.376 = Rig@10:15 Bah (GRAEESE)
11:45 136 110.0 2.376 =l RRiB011:45 Bz (REAKEEE)
13:20 136 110.0 2.376 E BRige13:20 Bz (GRAERESE)
14:25 136 110.0 2.376 E| {Rige14:25 Bzh (RE{EREE)
15:30 136 110.0 2.376 = RRiB015:30 B (RFAEESE)
16:35 136 110.0 2.376 E BRige16:35 Bzl (GRAERERE)
21t 1224.0 (90%) 990.0 32 3KEC: 2500.0, PH: 6.5

large discrepency for begining water status (220:27.0), set to 220 ml
REXEBIPH (10.52) 5i&%EPH (6.5) RER KA, HFHE
REXFEBIPH (10.52) 5FMPH (6.5) RERK, EHRE
PE[EIRECE (2698. 0 vs 3832.0) fRe
EXGEBIPH (10.4) 518 %EE (6.5 RERK, FRE.

ERGEBIPH (10.4) S5iREE (6.5) REKK, HRE.




G3-3_0, Day=27 (2025-06-08)

1004 VI, V0, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1900153301 2000
75 - L 1500 1.
1200 | 00d
50 ~ 18 1000
663
25 L 500
32 Warning: lcol [FVI',| "FVO’'] missing 95

0 - -0
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s | -
— | =
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0.8 -

0.6 -
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0.2

Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=2500. 0, setECB=2500. 0 —¢  ECB*10%
® ECC
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Y ° o
g o0 ®
2600 - ° .‘QQ“Q.
_____________________________________________ S = —— e [ S N
oo o
10 optPHO=6.5. setPHB=6.5 ® ® 0o 0000000000000 ——  PHB*10% f
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8_
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6_
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2 200 7 : - 2000 £
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o 1 3
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s |LBE & [ | & |88 [ |6 |5 |F | [ 6 66|58 |B [ [65 |65 |F ][ [8 300
c 1
()]

— ByEt @D27 19:07: ET=2112 Fg=1960. 0 Ro=nan 1
\3_200_ * - 2000
< |
- 1
£ 100 - L 1000
o

Y —— B — 0

2004 0 | T | 2 [ 3 [ 4|56 7 ] 8 [ 9 [10[ 11 [12]13]14]15]16] 17 ] 18 [ 19 [ 20 | 21 | 22 | 23
S B | B [ | B [k [ K[| B |k |®B [K|B|K|B[K|B|K|B[K|B|K|Zx[355x]3000
= 1
2_200 ByWoF¥ @D31 01:37: ET=818 Fg=990.0 Ro=135.0
< : - 2000
< 1
- 1
£ 100 - : e—o—o—o o0 L 1000
o 1

L

1.0 '_g L’ 24 4 \\—‘ 0

T [ 11 21 31 4 5161 71 81 9 [10] 11121314/ 151617 18] 1972 |21 22 ] 23

0al B | RE | F& | #& | FE | W | R | F& | FE | FE | W | RE | F& | Fe | fE | W | R | M | & | RE | B | B |BnlBn

0.6 -

0.4

0.2

0.0

—_— 4

1500

[ ] | _obs
—@— PPFD obs
e v P
T T

cumET (ml/plant)

cumET (ml/plant)



m=390, FV0=0 m=425, FV0=0 m=485, FV0=0

50 - —o— ME 99 1 —e— ME 50 - —— ME
45 1 50 - 45
40 -
45 -+ 40 -
35 -
40 35 4
30 -
T T T T T T T T T T T T T
400 600 800 1000 390 395 400 425 430 435 485 490 495
m=545,m FV0=0 m=595,m FV0=0 m=640,m FV0=0 m=685,m FV0=0
50 A
—o— ME 45 —— ME 45 —— ME 45 —o— ME
45 -
40 40 1 40 -
40 -
35 - 35 1 35 -
35 4
30 30 1 30
30 1
T T T T T T T T T T T T
545 550 555 595 600 605 640 645 650 685 690 695
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